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QUESTION 1

The PowerPathVE rpowermt server cannot reach a previously licensed ESXi host. Which two statements are true?
(Choose two.)

A. Multpathing functonality contnues to be available on that host and 10 contnues to be load- balanced across all
available paths.

B. The multpathing policy is automatcally reset to Basic Failover (BF) during the period that communicaton is not
available.

C. A new PowerPathVE license will need to be applied to the ESXi host afer communicaton is restored.
D. No changes to the PowerPathVE confguraton can be made untl connectvity is restored.

Correct Answer: AD

QUESTION 2

You are testng DRS as part of the Vblock System 320 deployment and have placed the ESXi server into
Maintenance mode. Afer several minutes, the ESXi server has not completed the transiton into
Maintenance mode.

Which two actons should you perform? (Choose two.)

A. Manually shut down the VMs when you put an ESXi server into Maintenance mode.

B. Verify that DRS is in fully automatc mode.

C. Verify VMware HA is confgured because DRS requires it to transiton the VMs.

D. Verify vMoton is properly confgured because DRS requires it to transiton operatonal VMs.

Correct Answer: BD

QUESTION 3

Your client wants all required storage space for the virtual disk to be allocated at creaton tme. The data remaining on
the physical device should be zeroed out when the virtual disk is created. Which storage provision type will allow you to
meet your client\\'s requirements?

A. thick LUN provisioning, eager zeroing

B. thin LUN provisioning, eager zeroing

C. thin LUN provisioning, lazy zeroing

D. thick LUN provisioning, lazy zeroing
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Correct Answer: A

QUESTION 4

Click the Exhibit buton.

General
:' Guest OS: Microsoft Windows 7 (64-bit)
| VM Version: 8
CPU: 1vCPU
) Memory: 512 MB
r Memory Overhead: 61.75MB

Initialize powering On

W °

Time: 9/23/2013 11:24:51 AM
Target: Lab
vCenter Server:  VCENTERS50U2

Referring to the exhibit, which two actons would allow powering on the virtual machine? (Choose two.)
A. Increase the memory reservaton on the virtual machine.

B. Decrease the memory reservaton on the virtual machine.

C. Add more memory to the ESXi host.

D. Increase the amount of memory allocated to the virtual machine.

Correct Answer: BC

QUESTION 5
Which statement is correct about using VMware Inventory Services?

A. It tracks virtual machine locatons in the data center.
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B. It improves administratve user performance and reduces trafc with the vCenter.
C. It tracks data center objects and performs reports.
D. It improves virtual machine responsiveness.

Correct Answer: B
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